Sapporo TR265FE LiBEPERATRE
F450] dLEERERRT— T A ARy —KE RAE—FR7—FRESE
ER27FE1B108(2)~128(A)
EEINEFX RANALRAD 7 LALEEIL EBA RN 5 HS)

* % k NEHFE B F 5000 m (FiE) * * * 2015/1/10 18:54
#H & No. K % A B 24 L fRIER. = Raok B E
1 B 40 FK FB +B -Hilre) 7.23.81 1 2 =T
w42 AR Bt +B-2E 7.26.28 3 2 =T
2 52 {kEE & + - FTEHZREG) 7.26.37 4 2 =T
% 34 SH IE +B5-BHEE/\G) 8.23.66 7
F 81 TR FOth - LRETHRRE) 7.26.47 5 2 =T
# 100 {EBE K 2IB-EREREQ) 7.26.11 2 2 =T
% 133 BIFT EKX BE-HAE=Q) DNF
|aFk 153 BB KE  RE-FERRE) 7.37.03 6
2 B 15 I OR# B KBE) 7.39.06 1 2 =7
24 EE Wt +B-EEO 7.45.16 2 2 =T
2 4 #H Bt +B-2FQ 8.49.86 7
% 72 TH BFE  +B-ERPRE 8.26.46 5
&5 51 AR BEE -8R0 8.30.48 6
# 146 THAF K& R=-FELERQ) 7.58.38 4
% 87 HLIU FKER FBiR-E/MEAEEG) 7.58.29 3 2 =T
3 B 14 I OE + - K4H(2) 7.49.08 1 2 =T
& 4 KB W2 +B-HiR) 8.34.91 6
2 45 EH ER +B-EFQ 8.52.51 8
% 7 RE ER +B-ERRRE) 7.59.68 2 2 =T
& 35 AR thid +B-AREE 8.14.60 5 1
# 151 BE #E  RE-FEHRE) 8.05.92 3 1
% 145 HIE 1§ RE=-RE EERIQ) 8.06.23 4
|k o1 fFREE ORI BEE-ENMRBERE) 8.34.91 6
4 B 23 FTHA E + - BEB(1) 8.21.47 6 1
43 8K BN +B-2EO0) 7.40.86 3 2 =7
2 53 [EE FE +B-EEEEQ 7.42.96 4 1
% 14 B H— 4B LR 7.50.08 5 2 =T
& 132 #2H EE BEEAFE=0Q 8.37.51 7
g 101 BB EI  R-EREHEQ) 7.39.86 2 2 =7
% o5 EE BE  ABR-IBIEE) 7.32.78 1 2 =T
5 B 5 @ FEE +B-SE&E0) DNF
# 6 BA il +B-TFTEEQ 8.14.10 5 1
2 27 1E Imie +B-BEREEQ) 8.13.93 4 1
% 77 8l & +H-FEEQ) 7.32.28 1 2 =7
F 112 B E FR—yo-§EB) 8.29.76 6 1
# 92 IE BF %K IBREEEQ) 7.48.61 3 2 =T
% 150 HFF KB BE-JEhR0) 7.33.44 2 2 =T
B BB

L2z)—: [ FHBHFAMHKH] F—IF247x—: [ HHAE] EHER: [FE FT&]I




Sapporo

FRE26EE LBEFEREFTRE

F45E LBEPERAT—M T A RRvr—KE AE—FRAy— s
FR2741B108(2)~128(A)
EBRNEFRANALREZDT L(ALEEII EBRNEN5EIS)

* % *k NAREEEFE B F 5000 m (F3E) * * *

2015/1/10 18:54

8 @ No K E4 i B QN IR @ KAk F &
6 B 713 M 2 +B%- RIS R®) 7.52.19 6 1
# 8 € EEFE  +B-A3OQ) 7.45.75 4 1
2 33 HH E#KX +B%- A Q) 7.51.56 5 2 =T
% 28 BH BKED +B-2E8E0) 7.40.36 1 2 =T
& 120 ¥H Fth FHR—Y7- L RINRQ2) 7.45.10 3 1
# 86 [REAME FEK L)l-EN@ 8.21.25 7 1
% 106 HEAK B S35 - =T R (2) 7.40.57 2 2 =T
7
8
9
10
HES AL £ A

L2z —:[ +H 7% I

F—OA4<T— [ HH B ]

EREE (PR F&H]




